
E 3746-0822

1

2

7

4

5

6

8

10

11

14

15

16
17

17

18

19

9

MA=40Nm

100



E 3746-0822 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002229          

2 2 11002693          

3             

4 4 25038007  DIN933-M8x20        

5 4 20029031  SKM 8        

6 2 21001771          

7 2 11002687          

8 2 21001002  DIN912-M16x45        

9 2 11001273  t=2        

10 2 25038018  DIN933-M12x20        

11 2 20029023  SKB 12        

12             

13             

14 1 11002247          

15 1 20007202          

16 1 11002233         

17 3 21000903         

18 1 25038021  DIN933-M12x35       

19 1 25031015  DIN985-M12       

               

               

               

               

              

              

           CR 3-II ab Serien-Nr. 20081388 

           CR 3-II E ab Serien-Nr. 20080482 

           CR 3-II Hd ab Serien-Nr. 20081373 

100   60002184  Loctite 243     CR 3-II HD LE ab Serien-Nr. 20081634 

                

08.22        



E 3747-0921

13

14

15

18 19

16

17

5

4

7
8

9

11

2

3

1

10

12

21

20

 

22

23

24



E 3747-0921 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002681          

2 4 25044006  DIN912-M8x25        

3 4 20029011  VSKZ 8        

4 1 20008067          

5 1 12000350          

6             

7 1 11002588          

8 1 20013273          

9 1 25035027  DIN472-J58x2,0        

10 1 20020119          

11 1 21001229          

12 1 11002286          

13 2 21000734  DIN912-M5x12        

14 2 20029006  VSK 5        

15 1 21001359          

16 1 25030002  DIN908-M14x1,5       

17 1 21000256         

18 1 25030003  DIN908-M24x1,5       

19 1 25008008  DIN7603-24x32x2       

20 1 11002024         

21 1 11002358           

22 1 11002662           

23 1 20013282           

24 1 21001004           

               

               

               

               

               

              ab Serien-Nr. 20059387 

09.21        



E 3538-0921

EPA

20

22

12 13

14

5

4

7 8

9

11

2

3

1

10

20

20

17

18

19

21

15

16
  

23

24

25



E 3538-0921 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002681          

2 4 25044006  DIN912-M8x25        

3 4 20029011  VSKZ 8        

4 1 20008067          

5 1 12000350          

6             

7 1 11002588          

8 1 20013273          

9 1 25035027  DIN472-J58x2,0        

10 1 20020119          

11 1 21000324          

12 1 25030003  DIN908-M24x1,5        

13 1 25008008  DIN7603-24x32x2        

14 1 21000256          

15 1 25030002  DIN908-M14x1,5        

16 1 21000827          

17 1 25044076  DIN912-M5x16        

18 1 25044080  DIN912-M5x25       

19 1 25044056  DIN912-M5x30       

20 3 21000952  SKM 5       

21 1 20022005  Tensilock M5       

22 1 25009021           

23 1 11002662           

24 1 20013282           

25 1 21001004           

               

               

               

               

              ab Serien-Nr. 20059387 

09.21        



E 3337-0822

1

2

2

3

4

4

5

5

6

7

8

9

10

11

12

3



E 3337-0822 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 10017394          

2 2 11002581          

3 2 20013271          

4 2 25017048          

5 2 10017396          

6 2 25044035  DIN912-M12x25        

7 2 20025158  VS 12        

8 2 11000056          

9 1 11000038          

10 4 25038008  DIN933-M8x25        

11 4 20029003  VSK 8        

12 2 20025593          

              

              

              

             

             

             

             

               

               

               

               

               

               

               

               

               

               

                

08.22        


